A Jlzse23l
B 5o AW B (SHLSN/5Y - 5E)

S MIls 228 MY (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
Olell=sg 5,621,024 5,960,753 AN 339,729

= 438,700
Fag 532,000
== 318,900
Al 4,331,424
=9 AU UG (sHlYLa /s - 5F) 3,793,762 3,702,667 91,095
= 438,700
Fag 532,000
== 258,900
Al 2,564,162
MIls 22 AlY 1,731,960 1,091,922 640,038
= 381,000
Fag 100,000
== 176,500
Al 1,074,460
selleEg =& & 17,960 18,502 YANGY. v
201 52 A Y| 1,600 1,542 58
01 Ar®2teltl 1,600 1,542 58
= 0ff & 1,600 1,542 58
OXNEZAIY =28 TN 2L
50,000& *10= *x23| 1,000
OXNEZAIY =X 222 H&
6,000& *100% 600
202 04| 10,320 10,320 0
01 2L 10,320 10,320 0
= 0ff & 10,320 10,320 0
OAZT uUs & HA A
60,000& x12¥ x123] 8,640
Od& =g Jl= HX0IY 60,000 *4H 73] 1,680
203 YRF&H| 1,000 1,000 0
03 AIBZ=XSRE=AH| 1,000 1,000 0
= 0l & 1,000 1,000 0
OMII=E22 AMBAMY FRF&
500,000 14! 500
OsZEXNZAMY g2 =& 500,000 * 14! 500
301 Qutg A= 5,040 5,640 A 600
09 SAIAHIEAZ 5,040 5,640 A 600
= 0l & 5,040 5,640 A 600
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SN

Hal =9 FWY YSH(SUNYLA/5 - 5E)
SRl MIIE 23 MY (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES = T BlRE2
Osgol dagslls A8 o WA
60,0008 *30% +23] 3,600
Osgel 245 D8 o A &4 24
60,0002 62 *43] 1,440
DAS RY B4 S4 210,000 215,600 A5,600
402 QIT0IH 210,000 215,600 5,600
01 BIZTZAYRE () 210,000 215,600 5,600
=0 4 210,000 215,600 A5,600
OB2IE AN L A& N
30,000, 00021 * 10ha*70% 210,000
HENS ZHAEE SZHA 28,000 23,820 4,180
402 DIAT2OIH 28,000 23,820 4,180
01 PIZTZAY R E(RHAITHE) 28,000 23,820 4,180
=0 & 28,000 23,820 4,180
OFMABE B4 A X &
8,000, 0002 *5hax70% 28,000
NEEEEEESIETE LS 200,000 42,000 158,000
2 100,000
Al 100,000
402 QIR0 200,000 42,000 158,000
2 100,000
Al 100,000
02 BIATZAYRE(OIFHE) 200,000 0 200,000
2 100,000
Al 100,000
= 0 4 200,000 0 200,000
2 100,000
Al 100,000
ONTEus S HAS otdl =8 o
NESE 50,0002 *4, 000 *100% 200,000
2 100,000
Al 100,000
HEY SH0 MG Z& Al 12,000 10,000 2,000
201 Ysr2gyl 2,000 0 2,000
01 At eyl 2,000 0 2,000
= 0] & 2,000 0 2,000
OW S401 X a2 N
5,0002! *400 % 2,000
402 PIZTEOIH 10,000 10,000 0
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A JlsE21
B 5o AW B (SHLSN/5Y - 5E)
©@ MIls 238 AY (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 QU2 T2AEEX (M) 10,000 10,000
= 0l & 10,000 10,000 0
O JIsd S0 MBHEX =4 AlY
1,000, 000& *10ha 10,000
GAP A EHX SHAMY 200,000 0 200,000
= 100,000
Al 100,000
402 QU2tX=201H 200,000 0 200,000
= 100,000
Al 100,000
02 QUAT2AMEEZ(0IXIHA) 200,000 0 200,000
= 100,000
Al 100,000
= 0l & 200,000 0 200,000
= 100,000
Al 100,000
OEZEYIE GAPAE S0t JIMHM RI&
40,000, 000& *5ha*100% 200,000
= 100,000
Al 100,000
28X EEE 0L MO AlEsIE 4 35,000 0 35,000
402 QI2EXrE20l M 35,000 0 35,000
01 Q2T 2AMEEZ(RHMIHA) 35,000 0 35,000
= 0ff & 35,000 0 35,000
OAHIX 58 0OILIMA THUE AlE
50,000,000 * 10 2 x70% 35,000
MAHl B2 B NI JI=E=2 AlE 21,000 0 21,000
402 QIZEXrE0l M 21,000 0 21,000
01 QU2 2AIS B (RHAHSA) 21,000 0 21,000
= 0l & 21,000 0 21,000
OHMAH 228 B I D=2 s
1,428,550 & *x21ha*70% 21,000
DS HSMA THEHOI= i 15,000 0 15,000
402 QI =0lM 15,000 0 15,000
01 QU2 T2AMEEZ(NAMIHA) 15,000 0 15,000
= 0l & 15,000 0 15,000
OLNSHID HSMA THHHOI= WY
10,714,000 *20H 2 x70% 15,000
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AN JlsE2SH

B 5o AW B (SHLSN/5Y - 5E)
el MIIs ES AlY (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
Sd I MA RE AY 150,000 0 150,000
= 75,000
Al 75,000
402 QU2tXp=20lM 150,000 0 150,000
= 75,000
Al 75,000
02 QUAT2AMEEZ(0IXTHIA) 150,000 0 150,000
= 75,000
Al 75,000
= 0l & 150,000 0 150,000
= 75,000
Al 75,000
Osdgy Mo, 25 MY
5,000,000& *30ha*100% 150,000
= 75,000
Al 75,000
2lls 20 =233 & s Heldls B2 50,000 0 50,000
= 25,000
Al 25,000
402 QIZ2HX=01 M 50,000 0 50,000
= 25,000
Al 25,000
02 QAT 2AIEEX(0IXTHA) 50,000 0 50,000
= 25,000
Al 25,000
= 0l &F 50,000 0 50,000
= 25,000
Al 25,000
2Ils 20 2= ¢ s 2l JI
= AH" 50,000,000& = 1K 2~ *100% 50,000
= 25,000
Al 25,000
MES S 2| 8 23 MY 12,000 0 12,000
= 6,000
Al 6,000
301 LErEAF 12,000 0 12,000
= 6,000
Al 6,000
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AN JlsE2SH

B 5o AW B (SHLSN/5Y - 5E)
el MIIs ES AlY (e &
. o9l () NEAY - B (X o) o) s
12 JIEt2 &= 12,000 12,000
= 6,000
Al 6,000
& 12,000 12,000
= 6,000
Al 6,000
MES XN )| 8 22 AY
60,000 »200 % 12,000
= 6,000
Al 6,000
2H A58 RelEcF SN MY 200,000 200,000
2 100,000
Al 100,000
g2t E0l M 200,000 200,000
= 100,000
Al 100,000
QI ESAIHEX(0IXTHE) 200,000 200,000
= 100,000
Al 100,000
= 0l &F 200,000 200,000
= 100,000
Al 100,000
ZEM Y= 2223 S48 MY
40,000, 000& *5ha*100% 200,000
= 100,000
Al 100,000
Hsd 58 22 150,000 150,000
2 75,000
Al 75,000
gIzZtt=01d 150,000 150,000
= 75,000
Al 75,000
QI EAHEX(0IXTHE) 150,000 150,000
= 75,000
Al 75,000
& 150,000 150,000
= 75,000
Al 75,000
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A Jlzse23l
B 5o AW B (SHLSN/5Y - 5E)
S MIls 228 MY (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Ot mUEd 3 2= AME
75,000, 000& *2ha*100% 150,000
= 75,000
Al 75,000
H MHlE SO AIE S X =4 21,000 21,000
== 9,000
Al 12,000
402 QIZ2tXIE0l & 21,000 21,000
== 9,000
Al 12,000
02 QUIAX2AILEZ(0IETHE) 21,000 21,000
== 9,000
Al 12,000
= 0l & 21,000 21,000
== 9,000
Al 12,000
OH MHlE SIIMEE AlE X =4
3,000, 000& *10hax70% 21,000
== 9,000
Al 12,000
2 A, DP0F MAF L2IHS Il AlYE 63,000 63,000
o 27,000
Al 36,000
402 QI2FXE0|M 63,000 63,000
== 27,000
Al 36,000
02 SIZHXE2ALEXZ(0IETHL) 63,000 63,000
= 27,000
Al 36,000
= 0ff &F 63,000 63,000
== 27,000
Al 36,000
OZ X, D70 Ma 2D HS Il AlY
90,000,000 =10 A *70% 63,000
== 27,000
Al 36,000
= A THIEX =24 AlY 21,000 21,000
== 9,000
. Al 12,000
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A JlsE21
B 5o AW B (SHLSN/5Y - 5E)
©@ MIls 238 AY (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
402 QI =0lM 21,000 21,000
= 9,000
Al 12,000
02 QUAT2AILEX(0IXTHIA) 21,000 21,000
= 9,000
Al 12,000
= 0l &F 21,000 21,000
= 9,000
Al 12,000
O2 & MMEHHX =4 Al
30,000,000& *1JH 2= *70% 21,000
& 9,000
Al 12,000
AHAN AZ RSB HSHA =4 35,000 35,000
= 15,000
Al 20,000
402 QIZEXRrE0l M 35,000 35,000
= 15,000
Al 20,000
02 QAT 2AISEX(0I™THA) 35,000 35,000
= 15,000
Al 20,000
= 0ff &F 35,000 35,000
= 15,000
Al 20,000
O4Bx Bg SUEN WSS T4
25,000, 000& *2ha*70% 35,000
= 15,000
Al 20,000
H MAHEZ SEII=22 MY 35,000 35,000
= 15,000
Al 20,000
402 QIZEXrE0l M 35,000 35,000
= 15,000
Al 20,000
02 QIZT2AILE X (0IETHA) 35,000 35,000
= 15,000
Al 20,000
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=M JlEE3 D
Hal =9 FWY YSH(SUNYLA/5 - 5E)
SRl MIIE 23 MY (2@
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0l & 35,000 35,000
= 15,000
Al 20,000
O MAHIEY ZHIS2Y AlH
5,000, 000! *10ha*70% 35,000
= 15,000
Al 20,000
S40ls48 M MAST X8 AlY 35,000 35,000
= 15,000
Al 20,000
402 BIT2OIH 35,000 35,000
= 15,000
Al 20,000
02 QI AR E(OIF TS ) 35,000 35,000
= 15,000
Al 20,000
=0 4 35,000 35,000
= 15,000
Al 20,000
OS4 JlsH # MNSX £48 AY
2,500, 0002 *20hax70% 35,000
= 15,000
Al 20,000
25 A0l - SBRES MUSX T4 20,000 20,000
= 6,000
Al 14,000
402 QIO 20,000 20,000
= 6,000
Al 14,000
02 QIS AR E (OIFTHR) 20,000 20,000
= 6,000
Al 14,000
=0 & 20,000 20,000
= 6,000
Al 14,000
ORJls 20 SSX2 HNST X4
28,571, 0002 * hax70% 20,000
= 6,000
Al 14,000
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A JlsE21
B 5o AW B (SHLSN/5Y - 5E)
©@ MIls 238 AY (e &
. i - e 144 & 0f 4 o .
SA BB (AH) - HBAY - BA= Aty S HDE 2
2o (O1=o)
AHIX 58 =2Hlel S SN AIY 7,000 7,000
= 3,000
Al 4,000
402 QIZEX=0l M 7,000 7,000
& 3,000
Al 4,000
02 QAT 2AILEX(0IXTHIA) 7,000 7,000
= 3,000
Al 4,000
= 0ff &F 7,000 7,000
& 3,000
Al 4,000
OAHIt 458 EFHICl SSAL Al
10,000, 000& * tha*70% 7,000
= 3,000
Al 4,000
AMEAN A6 oY ELNE AY 35,000 35,000
= 10,500
Al 24,500
402 QI2ZEX=20l M 35,000 35,000
= 10,500
Al 24,500
02 QAT AILEX(0IXTHIA) 35,000 35,000
= 10,500
Al 24,500
= 0l & 35,000 35,000
& 10,500
Al 24,500
OAE20 AZZoH Ml EALME Al
35,000,000 1 &~ 35,000
= 10,500
Al 24,500
NBASAMS MAS 9B 22U Y| 23 40,000 40,000
= 16,000
Al 24,000
405  RHAHHESHI 40,000 40,000
= 16,000
Al 24,000
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SN

X XH -
S =

S MIls 228 MY (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
01 MM =SSFHSH 40,000 40,000
== 16,000
Al 24,000
=0l & 40,000 40,000
== 16,000
Al 24,000
OZ2=24dcet I 7Y 10,000, 000& =4 CH 40,000
== 16,000
Al 24,000
ICTEE 22 AIFAIE e 249 AlY 42,000 42,000
= 18,000
Al 24,000
402  QIZ2EXrE201 ™ 42,000 42,000
== 18,000
Al 24,000
02 SIZAX2ANHEX(0IETL) 42,000 42,000
& 18,000
Al 24,000
= 0l & 42,000 42,000
== 18,000
Al 24,000
OIlTE S 22 AIZAIEE 2 AlY
30,000, 000& *2JH 2 *70% 42,000
== 18,000
Al 24,000
SH HUXEZ & AIFEH HE AlE 42,000 42,000
== 18,000
Al 24,000
402 QIZ2tXIE0l ™ 42,000 42,000
== 18,000
Al 24,000
02 QUAT2AILEZ(OIMTHE) 42,000 42,000
== 18,000
Al 24,000
= 0l & 42,000 42,000
== 18,000
Al 24,000
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=M JlEE3 D
Hal =9 FWY YSH(SUNYLA/5 - 5E)
SR MIIE B3 MY (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OS2 MUNEZ 2 ASEZ Ha Al
20,000, 00024 *37H 2 *70% 42,000
= 18,000
Al 24,000
HDEE DA YU 84 35,000 0 35,000
= 15,000
Al 20,000
402 BIAT2O0IH 35,000 0 35,000
= 15,000
Al 20,000
02 QIATEALRE(OIFTHS) 35,000 0 35,000
= 15,000
Al 20,000
= 0 4t 35,000 0 35,000
= 15,000
Al 20,000
OXDEX DA MUK §4
2,500, 0002 *20ha*70% 35,000
= 15,000
Al 20,000
Bt Ps 08 AE 1,078,802 1,376,245 £.297,443
= 57,700
2 100,000
= 16,000
Al 905,102
EUATA 2Y 43,150 34,550 8,600
201 Yur2YH| 29,800 21,200 8,600
01 AtR2lH| 4,300 4,300 0
=0 4t 4,300 4,300 0
OESAMA V2B 100,000 *55 *43] 2,000
OEYAFA 24 ZH A28 7
57,5008 *10% *43] 2,300
02 Zz2l 25,500 16,900 8,600
=0 & 25,500 16,900 8,600
OEYAIA HIIS Mel  500,0002 «2E 1,000
OSA™A ®IIRS 1,000,008 *128 12,000
OEYAPA 22T +8 L |
250,000 ¥10Z #53] 12,500
206 THEHI 13,350 13,350 0
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A Jlzse23l
B 5o AW B (SHSHN/5Y - 5E)
ol BB o= OlE RE CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
01 &4l 13,350 13,350
= 0l & 13,350 13,350 0
OEUAN A L WE 2
50,000& *50& 23] 5,000
O=XINI7 ¢ 100,000 x10& ~53] 5,000
OgL2ItA 2 167,500& *2& x103] 3,350
Seg2da 29 43,000 16,487 26,513
= 21,500
Al 21,500
101 Ol A4 H| 4,063 1,663 2,400
= 2,031
Al 2,032
04 JIZHZ2ZNSE S 4,063 1,663 2,400
= 2,031
Al 2,032
= 0l & 4,063 1,663 2,400
= 2,031
Al 2,032
OZEZHA 2% ANlg WHE & 2 LAl
AL 1,846
—-Jl23 66,800 x1H x21 1,403
= 701
Al 702
—F5g 66,800& x 1Y x4 268
= 134
Al 134
—=20d3 1,670,000& *4 .5% 76
= 38
Al 38
—2AAEE 1,670,000& *3.12% 53
= 27
Al 26
- 11888 1,670,000& *1.5% 26
= 13
Al 13
— &) AYEE 68,000 *7.38% 6
= 3
Al 3
—MTHEE 2 1,670,000& *0.8% 14
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2 A =22
B 5o AW B (SHSHN/5Y - 5E)
ol BB o= OlE RE CER-E
M- =8 a9 (3) - HEAY - a2 o @(ijf;lﬁ% HRE2
= 7
Al 7
OEx2AHLHX HE 100,000& *4H 400
=2 200
Al 200
OEYZE 2 Ws F4AY|
90,850& *4H x53] 1,817
= 908
Al 909
201 B2 A 20,517 8,000 12,517
= 10,259
Al 10,258
01 AFR22lH| 7,017 3,000 4,017
2 3,509
Al 3,508
= 0l & 7,017 3,000 4,017
= 3,509
Al 3,508
OEXAZE MFA 28 ¢ 1,608,500 *23] 3,217
= 1,609
Al 1,608
OEAHE tMEH & BS537 2
100,000& *4H x235] 800
= 400
Al 400
ORdlagstd =4 1,500, 000& *23] 3,000
= 1,500
Al 1,500
02 =324l 13,500 5,000 8,500
= 6,750
Al 6,750
= 0ff & 13,500 5,000 8,500
= 6,750
Al 6,750
OELZH &yl =2l 2,700,000& *53| 13,500
= 6,750
Al 6,750
202 044l 1,520 1,520 0
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AN JlsE2SH

B 5o AW B (SHSHN/5Y - 5E)
EH9l: e o b 2= CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
202 4 H| = 760
Al 760
01 U 1,520 1,520 0
= 760
Al 760
=0f &t 1,520 1,520 0
= 760
Al 760
OELZE 28 s S AL &4 1,520
- S He 60,000& x2H «63| 720
= 360
Al 360
A= 100,000& x2F *43| 800
= 400
Al 400
206 M=l 15,400 5,304 10,096
= 7,700
Al 7,700
01 M=zl 15,400 5,304 10,096
= 7,700
Al 7,700
=04 15,400 5,304 10,096
= 7,700
Al 7,700
OELZE &2d Mz +¢
385,000 x10& *43| 15,400
= 7,700
Al 7,700
405  RHAHHESHI 1,500 0 1,500
= 750
Al 750
01 A&LSSFHSHI 1,500 0 1,500
= 750
Al 750
= 0l & 1,500 0 1,500
= 750
Al 750
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SN JER2D
MM S AU YS(SEHLI/5Y - 5E)
Sol: DSt Az Jlp = (St &8
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
SFEFEET 375,000 *4CH 1,500
= 750
Al 750
HOE MEE, UM 2Y X 100,000 3,278 9,722
=2 10,000
Al 90,000
201 Lty 20,000 3,278 16,722
=2 10,000
Al 10,000
01 Atearell 20,000 3,278 16,722
= 10,000
Al 10,000
204 20,000 3,278 16,722
=2 10,000
Al 10,000
Ogs e el 2YSE 2Y
2,000,0009 * 105 20,000
2 10,000
Al 10,000
405 XHarF Sl 80,000 0 80,000
01 RaLEEHSH 80,000 0 80,000
=0 & 80,000 0 80,000
Ogols Me ZHl 7Y 20,000,000 =45 80,000
HHE HEY 29 4,450 4,600 A 150
201 Yste | 4,450 4,600 A 150
01 A2l 1,600 1,600 0
=0 & 1,600 1,600 0
ONZEE 29 =012 YR 400,000 =42 1,600
02 T2 2,850 3,000 A 150
=0 & 2,850 3,000 A 150
ouEIYl +el 1,425,0002 25 2,850
HolE VDRI 2Y N 8,400 8,400 0
=2 4,200
Al 4,200
301 YsteaZ 8,400 8,400 0
= 4,200
Al 4,200
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SN Js22D
Al =9 FWY YS(SUNYLA/5 - 5E)
Sl BB Ys g E (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES = T BlRE2
12 JIEEAa 8,400 8,400 0
2 4,200
Al 4,200
=0 4 8,400 8,400 0
2 4,200
Al 4,200
OHiHE BHE 2YsI 243
280,000 305 It 8,400
2 4,200
Al 4,200
DS Y 29 341,750 295,329 46,421
201 Yur2YHl 89,000 134,443 A45,443
01 At el 14,000 58,723 A44,723
=0 4 14,000 58,723 ~44,723
Os8llMe 222 2 D M
5,000, 0008 *23] 10,000
ODIMESUS HCZH 242
200,000, 0002 *2% 4,000
02 T2 75,000 75,720 AT20
=0 4 75,000 75,720 AT20
ODIMSW YA ¢2 7 1,500,0008 +128 18,000
ODIMSHYA M) L +5 23
4,000,0002! 122 48,000
ODIMSHHSA FHl RNl
900,000 * 103! 9,000
206 T2l 250,200 158,486 91,714
01 MEbl 250,200 158,486 91,714
=0 4 250,200 158,486 91,714
ORSOIME MM WX 2
10,000,000 65 +33] 180,000
OsgUME ZTEM ME 7
5,000,0008 *3% 23] 30,000
OB/TOIMES M4 BHX 22 600,000 *673] 40,200
01 YprEaz 2,550 2,400 150
09 BAAH B4 2,550 2,400 150
=0 4 2,550 2,400 150
OnMEATE B BY
8,5002! +30% * 103l 2,550
Noise ERDMS 44 DEY 2Y A 2,800 2,800 0
201 Yur2YHl 1,300 1,300 0
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AN JlsE2SH

H: =9 WY S (SYHLP/5Y - 5F)
Sel: B Qs JEr RE (ol
- - = Ofl &K & 0 A =
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
01 At el 1,300 1,300
=04 1,300 1,300 0
OTteise EXIME B8 S0t B
100,000 *103] 1,000
ONtelse EX0ME I8 25 7Y
30,0002 *103] 300
206 MEUl 1,500 1,500 0
01 Ml 1,500 1,500 0
=04 1,500 1,500 0
OEXDIME L ASY I 448 ME
2y 150,000 ¥10% 1,500
DHRSOME Mo L 23 251,252 251,601 349
101 Q12| 29,770 29,763 7
04 JIAHIEXSES 29,770 29,763 7
= 0f o 29,770 29,763 7
OOIMSHY LIt o121 29,770
-Jl23 195, 6602 *1% 1442 28,176
-2y 28,176,000 *3. 12% 880
- 823 28,176,0002! *1.5% 423
— M 28,176,000! *0. 8% 226
— @Y 880, 000! *7.38% 65
201 g2l 60,876 57,838 3,038
01 AtR2elH| 10,000 10,000 0
=004 10,000 10,000 0
OOIMESHE FIlQEB2l (e
250,0008! * 122 3,000
ONMSHE 2SISE 7Y
50,0002 *10Z +103] 5,000
ODERBOINE 222 L 28I HE
2,0002! *500% +23] 2,000
02 Zz2 50,876 47,838 3,038
= 0f o 50,876 47,838 3,038
OOIMESHE ®IIRZ 2,000,008 +128 24,000
ONMSHE £33 500,000% * 122 6,000
ONMSHE H27 1,160,000% *53] 5,800
ONMSHE HH |22
1,320, 0008 *53] 6,600
ODYOIME MAAE AZZY L HEA
a 2o 8,476,000! * 14! 8,476
206 M2 140,606 112,000 28,606
|
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SN Js22D
BH: =9 AW VH(SUNYLL/5Y - 5E)
Sl BB Ys g E (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES = T BlRE2
01 Ml 140,606 112,000 28,606
= 0 4 140,606 112,000 28,606
OBZAME MUWE 7Y
1,284,0002! 0% *53] 64,200
OESNMSHA MATHE 7
1,288, 1202 *10%5 *53] 64,406
ODERS0IMS AHWE 7
10,0008 *10% 23| 2,000
ONERSNINE THW 2Y
500,000 *2% *103] 10,000
207 Il 20,000 0 20,000
01 elms el 20,000 0 20,000
=0 4 20,000 0 20,000
OBZMZ(M2H) & 7Y
20,000, 00021 * 14! 20,000
SX2 HHE LA 44,000 55,000 A11,000
2 22,000
Al 22,000
402 QIATEOIH 44,000 55,000 A11,000
2 22,000
Al 22,000
02 SIATEAMALE(OIEME) 44,000 55,000 A11,000
2 22,000
Al 22,000
=0 4 44,000 55,000 A11,000
2 22,000
Al 22,000
Osx2 g#E L
22,000, 000! *23| *100% 44,000
2 22,000
Al 22,000
SEXNTINEL (AA) 200,000 700,000 A500,000
2 100,000
Al 100,000
405 XrarE Sl 200,000 55,968 144,032
2 100,000
Al 100,000
0 RMUSEHSH 200,000 55,968 144,032
s 100,000
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A Jlzse23l
B 5o AW B (SHSHN/5Y - 5E)
ol BB o= OlE RE CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
01 MM =SSFHSH Al 100,000
= 0l & 200,000 55,968 144,032
Fag 100,000
Al 100,000
OELZHEH 7L 50,000,000& *4& 200,000
Fag 100,000
Al 100,000
Etd DME MM 29 X3 40,000 0 40,000
== 16,000
Al 24,000
206 M Z&H| 40,000 0 40,000
o 16,000
Al 24,000
01 MZH| 40,000 0 40,000
= 16,000
Al 24,000
= 0ff &F 40,000 0 40,000
= 16,000
Al 24,000
O0lM=2 s 29 I 72
5,000,000& *4E x23] 40,000
== 16,000
Al 24,000
Halag=sd 983,000 1,234,500 A 251,500
= 332,000
== 66,400
Al 584,600
ol=0| e =dila 3434 40,000 39,580 420
402 QIR OIH 40,000 39,580 420
01 QIAXN2AMAEX (KAL) 40,000 39,580 420
= 0ff &F 40,000 39,580 420
Ola MXRE =& 435 AIY
50& %800, 000kg 40,000
NAM2AZAAS S (OHA!) 664,000 874,720 N 210,720
Fag 332,000
== 66,400
Al 265,600
402 QItXE01A 664,000 874,720 N 210,720
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2AM: JIz2=1
B 5o AW B (SHLLN/BY - 5E)
ol DA MR A CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
402 QI =0lM = 332,000
= 66,400
Al 265,600
02 QUAT2AILEX(0IXTHIA) 664,000 874,720 A210,720
s 332,000
= 66,400
Al 265,600
= 0l & 664,000 874,720 A210,720
= 332,000
& 66,400
Al 265,600
OWA NATBAZMAIH ALY
664,000, 000& * 14 2~ *100% 664,000
= 332,000
& 66,400
Al 265,600
e Al HES=E S48 124,000 90,200 33,800
201  LEt2I| 3,800 0 3,800
02 =zl 3,800 0 3,800
=0f 3,800 0 3,800
Ol ss d2® Mz 316,600 x12& 3,800
402 QIZ2EXrE0l M 120,200 90,200 30,000
01 QU2 T2AMEEZ (M) 120,200 90,200 30,000
= 0ff &F 120,200 90,200 30,000
osgeautx 2 XA
3,700,000 *x12CH *50% 22,200
OXsd&EIMNe 22 XA
2,800,000 x20CH *50% 28,000
Oz&fa Eot EE13 SLst
100,000,000 * 14 x70% 70,000
Nessd 4 TZNME RRD EH5 75,000 200,000 A 125,000
308 XXESHHMSOIH 75,000 200,000 A 125,000
10 BB/ 2S0CHeE & XL E AL B 75,000 200,000 A 125,000
= 0l &F 75,000 200,000 A 125,000
Olia & A4 & RERsH
75,000, 0003 *14] 75,000
=AY SMOHE ¥ 2D BE 70,000 0 70,000
201 eI 50,000 0 50,000
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2N =31
I s AMY L (sBHLrM/sY - 55)
S I [[PNPN == P S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
01 At Z2lH| 50,000 0 50,000
=0l At 50,000 0 50,000
O=&#0la ZDEE 2 UARME
50,000, 0002 14l 50,000
307 gI2tol ™ 20,000 0 20,000
02 QIZtBAAISE X 20,000 0 20,000
=0 & 20,000 0 20,000
O=HA HEA L HEDIE BEHA
20,000, 0002 *13] 20,000
MAZE ZAM AlEAY 10,000 0 10,000
201 L2 HH| 10,000 0 10,000
01 At 22lH| 10,000 0 10,000
=0l At 10,000 0 10,000
OMAZZ TAIM AEAY
100, 00001 * 100 10,000
CAl 83 T4 9 22 I g (sHllYra/s5¢ 1,678,374 2,079,418 A 401,044
s=)
= 60,000
Al 1,618,374
XAEF ASKHE 4, TAL 2Hel M2 1,678,374 2,079,418 A 401,044
< 60,000
Al 1,618,374
AIHR 2 JERD| 690, 176 690,344 A 168
101 @l 2H] 346,176 348,594 N2,418
04 JIZRH22XNEES 346,176 348,594 A2,418
=0l At 346,176 348,594 A2,418
O=FHANZRIE 29 JI2H L LAIAS
22X oA 346,176
—JI23OI2tHM22 1)
73,0702 *82 212 x50 2 23] +83, 1302 *5 210,045
=
*212 x50H 2 23
—JE22(LAAL22X)
73,0708 21U x204 & 24,552
- x5+ 73,0702 x 13 x522 49,396
-5
109, 60521 *2% « 1042 +124, 6952 +2 2 30 30,280
— 20032 314,273,000 *4.5% 14,143
—2ALLEE 314,273,000 3. 12% 9,806
—nE9¥ 314,273,000 *1.5% 4,715
—MHEER2 314,273,000 0. 8% 2,515
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A Jlzse23l
B CA BZ ZH Y B Y N (SPHSEL/5Y - 5E)
@2 NEES ASHE 4, TALYU =H2 M3 (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
— A YLEE 9,806,000& *7.38% 724
201 282 A | 111,500 119,250 AT,750
01 At 2t2ldl 14,300 14,300 0
= 0l & 14,300 14,300 0
O=R&E 828 23 72 430,000& x5&+23] 4,300
OAIJFRI Z2ot3 0| &Yl Xt
500,000& *2& 103 10,000
02 =324 97,200 104,950 NT,750
= 0ff &F 97,200 104,950 ANT,750
OJIAH & HbHl =&5 Xl
640,000& *5& x53] 16,000
O I E ety| 20,000,000 *3& 60,000
OIH Az 833,333 x12& 10,000
O3 & ccTvateldl 100, 000& =128 1,200
OSRE HEotA RXHl 400,000 *25= 10,000
206 & H| 182,500 222,500 AN 40,000
01 MZH] 182,500 222,500 A 40,000
= 0l & 182,500 222,500 AN 40,000
OAJIA 2 Mg 7¢
4,000,000& *10E *23] 80,000
Oz3% 8528 W& 7Y
800,000& x10& *53| 40,000
O=3slg €2 TE & E40 2¢
800,000& 105 *53| 40,000
OAIJIXN g 32 7 500, 0003 =454 22,500
401 AEBIZL L 50,000 0 50,000
01 Al&H| 50,000 0 50,000
= Ol & 50,000 0 50,000
O=FANESIHE =8H HH =2 & by
= = Ak 10,000, 000%24! 20,000
OEYO=ZRRd =HHE &X
10,000& *2,000m* 20,000
OHlI€gat2A 1= 5,000,000*2= 10,000
MA2HMEE 2H 69,448 100,324 N 30,876
101 [Slals] 15,898 54,174 N 38,276
04 JIZtHZ2ZXNSE S 15,898 54,174 N 38,276
= 0l & 15,898 54,174 N 38,276
OMX2ANWNMEE 29 22 15,898
—-Jl23 66,800 x1H 21 x8& 11,223
—S=52xg 66,800& *1H 48 3,207
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SN JERS D
A A BY X4 Y 2T NE WY (SEHLHM/5Y - 5E)
Bel: XSS ASKY |4, TAL 2XHel HMB (o :&e
x s . Of &t o8 & & 0 A o -
2A-F3H-H(FH) - RN - BES (Z= o) (713 o) HwE2Z
- 20013 14,430,0008! *4. 5% 650
—zes 14,430,0002 *3. 12% 451
-nees 14,430,000 *1.5% 217
- ®IlQuRs 451,000 +7.38% 34
—aHEEa 14,430,000 %0.8% 116
201 Ygregy 28,200 32,800 A 4,600
01 At=eltl 9,700 9,700 0
=0 o 9,700 9,700 0
OUXIRUMER E22 N
2,0002*1,0005 %25 4,000
OMXIZHHER ARSE 2
90,0002 *10Z *53| 4,500
OlAE22 LUAHAAE
10,0002 * 122 1,200
02 B2 18,500 23,100 A 4,600
=0 & 18,500 23,100 A 4,600
OUXRUMER 29 28 2
412,500 *4Z 103 16,500
OMXIAE R JIHZE =l
2,000 *1,0002 2,000
206 M2l 13,350 13,350 0
01 MEHl 13,350 13,350 0
=0 & 13,350 13,350 0
OUXRUAER 29 HE 2
133,500 *10Z * 103 13,350
401 AlZdlL Lol 12,000 0 12,000
01 Al&H] 12,000 0 12,000
=0 o 12,000 0 12,000
OMXIZHHE R Ba 2 &3
100,0002 * 120 12,000
a3lsot |4 778,750 838,750 A60,000
206 W24l 778,750 778,750 0
01 Ml 778,750 778,750 0
= 0f o 778,750 778,750 0
OstallsIt 2 2|
19,468,75021 * 105 I} +43] 778,750
N2 1SHE S5 (385 SAAY) 140,000 450,000 A 310,000
= 60,000
Al 80,000
402 QIZR=0IH 140,000 450,000 A 310,000
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2M: JER2 D
HM: TAl B X4 Y BT N HY(sTHLF/5Y - 58)

e Ilﬁ%hifiéﬂz’cj =24, TANQ =H2 M3 - - (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
402 QI2tXHE01H™ = 60,000
Al 80,000
02 SIZX2ALEX(0IETL) 140,000 450,000 A 310,000
== 60,000
Al 80,000
= 0l & 140,000 450,000 310,000
= 60,000
Al 80,000
O1AlZ 1S4 E 3dlsI |4
40,000,000& *5H A *70% 140,000
== 60,000
Al 80,000
HE2AAL (0lchsH D) (DIEH/DIE 148,888 178,668 N 29,780
ol 2 A 51,907 82,050 N30, 143
ol 2AH| 51,907 46,815 5,092
101 ol 4| 51,907 46,815 5,092
01 2= 51,907 46,815 5,092
= 0l & 51,907 46,815 5,092
OAlZtel 224
10,299& *14H *30A| 2H+12& 51,907
Jl2& bl 96,981 96,618 363
DR sl 96,981 96,618 363
201 B2 A Y| 56,001 58,218 N2, 217
01 Ar®2telt] 30,000 30,000 0
= 0ff & 30,000 30,000 0
Ogst==2Hl & JlE 22,800
— AR E St 300,000& 154 4,500
—SS+=34| 300,000& 154 4,500
— HAMFH A2 7L L S22
277,500& *8CH x53] 11,100
- XY D25R SHE
300,000& *x3CH *33] 2,700
OX3A ZEH]| 8,000& x15Y 541 x12& 7,200
02 =524l 26,001 28,218 N2, 217
= 0l & 26,001 28,218 N2, 217
Os32=2 % MA 5,730
— XS XAl 150, 000& *6LH *23] 1,800
— NS 2 & HAE 55,000& =6 LH 330
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A Jlzse23l
MM HYM2HAH| (D) (IIEH/DIIEH
Ce: I3l (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
—&8IR23 300,000& «12& 3,600
OA & &H| X2l 3,000,000& 2= 6,000
OXrg 22yl 14,271
— X £ Y SXHl 200,000 601 *23] 2,400
— g S34 989,200 x12& 11,871
202  0dd| 36,000 33,600 2,400
01 2L b 36,000 33,600 2,400
= 0l & 36,000 33,600 2,400
OJISYR=X 2UHSEAYI
20,000& 1510 x12& 36,000
203 Y=l 4,980 4,800 180
04 ENSIIERF=AY| 4,980 4,800 180
= 0ff & 4,980 4,800 180
ORNME2Y A28l 415,000 128 4,980
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